Low Power and Embedded
Systems - Workbook 4

Introduction

In this workbook we will accurately time the interval between two input events present at the microcon-
troller, investigate the sleep mode of the microcontroller and look at other techniques to reduce power
consumption.

Supporting material

atmega644p.pdf Latest: http://www.atmel.com/images/atmel-8011-8-bit-avr-microcon-
troller-atmegal64p-324p-644p_datasheet.pdf

Local copy: http://www.cl.cam.ac.uk/teaching/1415/P31/docs/
atmega644p.pdf

Data sheet for the Atmel ATMEGAG644P used in these exercises. You
will need to refer to this frequently. Within these workbooks this will be
referred to as 'the datasheet'. The section numbers referred to in these
workbooks refer to revision 8011Q of the datasheet dated 02/13.

hall_effect.pdf Latest: http://www.allegromicro.com/en/Prod-
ucts/Part_Numbers/1101/1101.pdf Local copy: http://
www.cl.cam.ac.uk/teaching/1415/P31/docs/al104.pdf

Data sheet for the A1104 hall effect switch.
avr-libc documentation http://www.nongnu.org/avr-libc/

Documentation for the libraries available
An on-line version of this guide is available at:

workbook4.html [http://www.cl.cam.ac.uk/teaching/1415/P31/workbook4.html]

Exercise 1 - Measuring the interval between events

This exercise builds upon the work undertaken in Workbook3, where you connected an LCD to the
microcontroller. The objective in this task is to accurately time the interval between two switch change
events. In this exercise the switches used are hall effect switches, which change state in response
to a change in a magnetic field. The microcontroller can be programmed to generate interrupts when
inputs change from low to high, high to low, or at either transition. Using two such interrupts and a timer
adjusted to count in multiples of 1us it is possible to make an accurate event interval timer, and display
the result on the LCD. To get timer ticks at exacly 1us intervals, the device will be run from an 8MHz
master clock, and using a timer prescale value of 8 (note just the timer presale, not the master clock
divide which is set in the fuses). The 16-bit timer takes a maximum time of 65ms before it overflows.
However we will use a count match interrupt to limit the counter to a maximum period of 10ms, and
by counting these interrupts using a 16-bit word this will allow timing of intervals up to approximately
650 seconds to be performed.
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1. Copy the code from worksheet3 exercise2.c to form worksheet4 exercisel.c
Also copy the relevant Makefile, and change exercise2 to exercisel in 4 places.
Read through this section to get an overview of the steps before continuing.

2. Fittwo hall effect switches to the prototyping board where they are easily accessible to a passing
magnet. The magnets are small, so stick the magnet on the end of a screwdriver. Note that
the hall effect switches are three terminal devices, which require connections to 0V and 5V, in
addition to the output. Connect the outputs of the two switches to PD2 (pin16) and PD3 (pinl7)
on the microcontroller, and make these inputs. Additionally, these inputs need pullup resistors
as the hall effect switches have open collector output.

3. Write a simple main() function to read from Pl ND and display the result on the LCD. Use this
to check the sensitivity of the hall effect switches to the magnet, and which output state cor-
responds to the magnet being near. For example, to check if bit 2 of PIND is high you could
use the test

if (PIND & (1<<PD2)) {

or to test for a low condition

if ((PIND & (1<<PD2)) == 0) {

4. With the inputs working, refer to section 10 of the datasheet, and choose a suitable value for
register El CRA so that a low to high transition generated by a transition on PD2 (=INTO) or
PD3 (=INT1) triggers an interrupt. Note that setting EI CRA merely selects which edge would
generate an interrupt. You must also write a value into register EI MSK to enable the interrupt.

5. Add code to process these interrupts: ISR(INTO_vect) and ISR(INT1_vect). Initially just do
something like display a character on the LCD when each transition is detected.

6. Set up the 16-bit timerl in CTC mode at 1MHz to count up to 9999 then reset to 0. You might
want to refer back to workbook3 exercise 1.

7. Next update ISR(INTO_vect) to clear and start timerl, and ISR(INT1_vect) to stop it by selecting
no clock source for the timer (but leave it in CTC mode). At this stage the timer will overflow,
but that will be addressed later.

8. Display the interval on the LCD, using the LCD_display_* functions from serial_lcd.h which we
used in workbook 3, exercise 2. Because the results are in microseconds, the values will look
random, but should change each time the switches are triggered in sequence, and should not
exceed 9999.

9. To address the overflow issue, create a 16-bit variable that is cleared when the timer is started.
Add a Counter Match Interrupt handler to increment this 16-bit value each time the timer count
reaches 9999. When the second switch event occurs, this 16-bit value represents a count of
10 millisecond intervals since the timer started. Write this 16 bit value to the LCD followed by
the timerl value, to get a microsecond count. You will need to create a modified version of
LCD_display_int16 to output the value of timerl as 4 characters including any leading zeroes
(the existing LCD_display_int16 is for signed numbers, and skips leading zeroes).

Ignore the fact that this 16-bit counter will itself overflow at 65536, i.e., just over 10 minutes.

There are alternative ways of achieving this result. Any 10 pins can be used to create pin change inter-
rupts, and also there is an Input Capture unit (see section 13.6 of the datasheet) which is specifically
designed for functions like this.
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Exercise 2 - sleep

In this exercise we will see how we can reduce the current consumption of the microcontroller utilising
the sleep modes.

1. Copy the code from worksheetl exercise2.c to form worksheet4 exercise2.c, this uses a 1MHz
internal clock instead of an external crystal.

Also copy the relevant Makefile.

2. Disconnect the LCD, serial connection, hall effect switches and associated wiring from the
previous exercise. Leave the LED and the crystal connections in place.

3. In order to change the clock source to the internal oscillator, you must issue the nake fuses
command.

Since the command needs a clock source, you must do this while the crystal and 22pF capac-
itors are connected. Once the clock has been changed to an internal one, the crystal and 22pF
capacitors can be removed.

4. Add the following line to exercise2.c o gain access to a number of sleep related functions:

#i ncl ude <avr/ sl eep. h>

Getting the microcontroller to sleep is one half of the problem. Getting it to wake again can be a source
of frustration unless care is taken when selecting the sleep mode and the wake-up event. You must
carefully consider which events will be used to trigger a wakeup, and make sure that the clocks required
to cause those triggers continue to run in the chosen sleep mode.

Refer to section 7 of the datasheet for details.

This exercise will use the Watchdog timer as the wake-up source. It allows wake up from all sleep
modes. The watchdog timer's normal purpose is to take control of a device which is not running correctly.
In normal use the watchdog receives a 'kick' regularly. Each kick clears a counter which counts up in
response to a clock source. If the counter overflows, the watchdog normally issues a reset command
to re-initialise the device. An alternative to resetting the microcontroller is to issue an interrupt. This
exercise will deliberately allow the watchdog timer to overflow and use the resulting interrupt to wake
from sleep mode.

To minimise the chances that runaway code will make changes to the watchdog, any change to the
watchdog must use a specific sequence of instructions, and these must be completed within a maximum
number of clock cycles. This is described in section 8.3.2 of the datasheet.
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1. Work out a suitable value for the Watchdog Control Register WDTCSR referred to in section
8.4.2 of the datasheet, to create a watchdog interrupt (not a reset!) at roughly 1 second intervals.
For the moment leave WDCE=0 and WDE=0

2. Using the code example WDT_Prescaler_change() on page 57 of the datasheet, add a suitable
watchdog initialisation function to exercise2.c, plus code to set the master Interrupt Enable bit
in SREG.

Note The datasheet omits a critical part:

The first part of the timed sequence MUST have WDE and WDCE set. Immediately after this
you can set WDTCSR to the value you require, in this case with WDE low.

Make sure this initialisation code is called before the Master Interrupt Enable bit is set.

3. Add an Interrupt Service Routine ISR(WDT _vect), and set the LED output high when the inter-
rupt occurs.

4. In the main function, use _delay_ms(100) to leave the LED on for 100ms, then use the functions
from sleep.h set sl eep_node() and sl eep_node() to make the microcontroller go to
sleep. The parameter to set_sleep_mode is the value for the register SMCR. Of the sleep
modes available, Power Down gives the best power savings.

You may need to refer to the documentation for <avr/sleep.h> in the avr-libc library avr-libc
[http://www.nongnu.org/avr-libc/].

5. Before testing, there is one more factor which makes a huge difference to power consump-
tion, and that is allowing inputs to float, which can increase current consumption significantly.
Change the port direction initialisation function to add pull up resistors to all inputs. Make sure
the pin for the LED is still assigned as an output.

Apart from a reduction in power consumption, this should behave exactly as per worksheetl exercise2.
Remember that as the clock source has changed, you must issue the make f uses command followed
by the make pr ogramcommand.

Compare the power consumption with sleep mode enabled against that with the sleep_mode()
instruction commented out. Adding a multimeter set to a suitable current range in series with the
5 Volt supply, and waiting for the reading to stabilise should be sufficient. You may want to extend
the sleep time to 8 seconds in order to leave enough time for the multimeter reading to settle. If
the microcontroller is sleeping, the current drawn should be approximately 20uA.

To reduce power consumption still further, it is possible to disable parts of the microcontroller which
are not in use.



http://www.nongnu.org/avr-libc/
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1. Work out a suitable value for the Power Reduction Register PRR referred to in section 7.12.3
of the datasheet, to minimise the power drawn as far as possible.

Note that you must put a 1 in the PRR to disable a function.
2. Assign the value to the PRR during the initialisation.

3. Try out the revised code, to see if the power reduction is measurable. You might want to extend
the watchdog timeout to 8 seconds during testing. This will help you to measure the current
consumption.

Im portant once you have finished using the multimeter in current mode, move the test leads
back to the voltage measurement range. It is very easy to blow the fuse on the meter by putting
the leads across a voltage source whilst the leads are plugged in to the current measuring socket.

Many of the project suggestions refer to reducing power consumption. Atmel have an application
note available for the XMega family of devices, which is still relevant for the Mega devices: Reduc-
ing consumption for the XMega devices [http://www.atmel.com/dyn/resources/prod_documents/
doc8267.pdf]

Another way of reducing consumption is to lower the supply voltage, but note that some devices
(such as the LCD) require 5V, at least according to the datasheet, and also that the microcon-
trollers cannot run at full speed at reduced supply voltages.
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